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Test Date 27/11/2024

Test Time 4:30 PM - 5:30 PM
Subject ALP Stage 1

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark per Question.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.
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Q.4

Ans

gfe fdl 99 & Udh Bl ] UINATY 48 cm g, A 39HT T J1d SHiorg |

v 11728 cm?
X2 729 cm?
X3 512 cm?
X 41024 cm?

Q.5

Ans

2 m YTl 9T Ueh 9HIBR b g! Bl ] U cad YR 1 G341 ¢ | 41 ddbal o 1[cdh &l G4 10 kg 8, Al cadl
R Wb ol o e GRT Gl 7141 &Td febd=1 g2 (31 g = 10 m/s?)

X1 30 Nm™2

X2 20 Nm™2

A3 15 Nm?

4 25 Nm™2

Q.6

Ans

fofeRed TReaaft 3R Hdld! &1 43aa & aRad 3R -1 faT 7T Uy &1 IR aiford | TRemait 3R Uil &1
$Had 914 Y Y &l | S+ algu|

@@ 6 8$9# 1* £47& 2 & % 305 (@O
IR e & vt famt Tt 8, o T ude & dle Usd Us Y& § @R 31 918 Us Ui §7

x 1. FH
X2 gy 3HiE

w"3-2f[
X 4 U

Q.7

Ans

Seven people, A, B, C. D. E. F and G are sitting in a row, facing north. Only two people sit to the right of C. Only two
people sit between D and C. A sits to the immediate right of D. E sits to the immediate left of G. B sits second to the left
of A.

How many people sit between B and F?
« 1. Two

< 2. Three

X 3. Four

X 4. One

Q.8

Ans

U GHMaR 3319.60 H Udh a%g WGl g | 25% W1H 3fold o o U 34 9% [y AT o R §9H]
ElE

X 1. %450

x 2. 3600

3 3400

X 4 3500
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Q.9

Ans

I TEU 10 Al 3R | &l &MY UieU| 39! T ¢ fdb [GU U &Y U ¢ 91¢ d GHaa: SI1d a2l
Y T WA el ol SR Myg &1 ¢ [ SH-81/@ -4 Fewy difdhd 9 ¥ 13U U H-/HYAl & 38R ¢/
gl

HY-:

oo O, f¥usfm gl

it i, fsusfemt 21

GBS

() T+t Fesuepferat, g 2

() IS G, WY T &1

X 1. drad By (1) SFTE0 Al g

v 2 A By (1) R AT (1) SR Rl & |
X 3. dhad FShY (1) SR Bl 2 |

K o fasa (1) 2R (1), ST SERO AR ¢

Q.10

Ans

U 9% BI 3add GUUI & FHA 20cm B g3l R 31 Tl & 37R S8 Ufdfde avg &1 fe=n & guur 4 60cm &
Sl IR §7AT ¢, GUUT GRI SMd G & gRI?

v 1 -3
X2 +1/3
X3 -1/3
X4 +3

QN

Ans

2024-25 ¥ U HET Ioie P AR, TIHR A YT (Sambal) w1t Giemsi F e o faxita af # 2462 F71s | Teraw
YARTIRT SfTafed @t

o 1. 3629 RIS
X 2.3756 IRIS
X 3.3453 RIS
X 4.3523 IRIS

Q.12

Ans

Sl qUiHTE 3hH & SR W, FAfAed 9R 2erR-9wg gl § U diF ue MiEd SR 9 99 § 3R 59 UBR
Udh G §1d ¢ | SIF-91 g 39 g Y Yaied el g7

(ST T ST HER-THE, I HeR-THE H HoH1/aR! BT TS 4T 377 R R ARG el 5 )
X 1. QL-SN

X 2. KF — MH

X3 EZ-GB

v4 LH-QM
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Q.13

Ans

FafaRed o I & F-91 fauant {8 & U6 3ae0 62
X 1. ST H YT g @aul

v 2 o ¥ gal g ad

X 2. O7d H gl §H HIIR Hedbe Bl Ul

X 4. o7 | il gg 9

Q.14

Ans

(x +a) IR (x+ b) BT UG A g2
X1 x*+ (a—b)x + ab
X2 x*+ (a—b)x-ab
3 x*+ (a+b)x + ab
X4 x4+ (a+b)x-ab

Q.15

Ans

=it faq 7Y FHuAT SR Fhuf DI MY UigU| Y] HFHT & T faT T &Y= 9 § =18 d FHaa: J1d a2l
X S{TT Wild Bid 8l 3R M2 &A1 8 [ SF-HI/1H-Y ey difches w9 I 8T Y Hy+/EH4A! & 3F9R 8/8|

Y
@is Uls, gUuI el €|
oo [Budioml], 9g §|

fsn -
() o Ui, fSusien el g
() P& e feml, gdo =2l 21

X 1. Haq (TsHY (1) HTERU HA1 8

X2 A1 By (1) 3R A BT (1) TRV Bl &
v 5 Had Y (11) ST BT §

4. TS (1) SR (1) ST SRR 6 §

Q.16

Ans

A. B, C.D, E and F are sitting around a circular table facing the centre. A sits second to the right of E. F is the
immediate neighbour of D and E. C sits second to the left of B.

What is the position of F with respect to C?

X 1. Immediate right

A 2. Third to the left

+ 3. Second to the left
X 4. Third to the right
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Q.17

Ans

gfe fodl Tl Bt BT H 50% i gfg &1 Sl 8, o g81g a=atha | UiaRid gig J1d Sifog|

X1 95%
2 125%
X3 100%
X4 115%

Q.18

Ans

AT 110 km 120 m ¥He F, 1 km 970 m UEH 3R 15 km 850 m T H IR HI | GId GRI 79 B TS A
a3l facit g2

X127 km 920 m

X2 27km930m

X327 km 950 m

&4 27 km 940 m

Q.19

Ans

galqeyl H giH dTel URadH &1 Ush 31U UgTIu Gl ¢ifis Ryend] o1 dobd & Gebll €|
&1 3 die @WW (Behaving differently)

2 AU aﬁﬁq@ &I UeH (New hair-growth patterns)

X 3. &g | 9f& (Increase in height)

X 4. ygeRm H gRaa (Mood swings)

Q.20

Ans

U i, §¢ SR §¢] 1 A &1 AR 70 9N 8| F1E | B SR U §C B 3A1G Y A AT 34 ¢, IR &2l B 341y
U HIS BT Y W 5 Y P ¢, T AT B A1 fobeit 82

X1 359y
X2 229y
v3 399y
K4 457y

Q.21

Ans

SRS GUITTAT B H o YR W & 7Ts 48e H U g (7) & ®IF R FYiaied § ¥ &H-91 [Ade ofF aige?

JFH, KGI, LHJ, MIK, ?
X 1. NLJ
« 2. NJL
<3 JLN
X4 JNL
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Q.22

Ans

e 32,400 B AARBH ST 7 : 5 o UG H (4R (91 ST B, TT A 1 8871 J1d i
x 1. 31,300
X 2. 31,000
v 3 31,400
X 4. 31,600

Q.23

Ans

w*mw e g1 2R oY &, el Bl 3 & e
(layering) g1 grfaeT (grafting) ot faferar & IugnT &1 & arelt
oT Al Se-dt

X 1. mﬁ'ﬂfﬂ (Spore formation)

x 2. W& (Fragmentation)

3. GIER RG] (Vegetative propagation)
X 4. U1vgd- (Regeneration)

Q.24

Ans

U [FTEd e HINTH, ‘GIRL' & '1539' oRaT §f1dT & #iR 'ROSE' @l '6825" [eRal §IdT 81 39 HE HINT H 'R’ &I &Y
forar S

X1 8

X2 3

X3 6

’45

Q.25
Ans

YR ST, aRgear 3N fEursg= fgarfife mais (Biennale) ¥ wefRia deul &1 41 Bieg w1 8172
X 1. TRuRe ey 3R 3nyfich argean

o 2. THTAH HaT 3R g feee

X 3. fafharats Wenfie! uexffar

X 4. URdg e SR Wi

Q.26

Ans

11 % YYH SR UISHT BT {1 fase 82

v 1. 715
X2 695
<3 68.5
X 4705

Q.27

Ans

3 P TTATY] 37dT 37 da@l & GRATUHT & Iy AT 910 GG HIa Urg: fora- Seiael= I SHial 82
X1 6
V2 4
X3 2
X 4.1
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Q.28

Ans

FofeRad o 9 feuds var diH & ofd &I Hierusdl 9 9ad & & [ a1 ol g2
v 1. fq%se gul
X 2. GITSTH gRSlags

X3 gfeprr rsT
X 4 yIa |ieT

Q.29

Ans

O i eRITH HTFRISS ofd & 1Y digdl U HfHfhar B G2 1 1 &A1 8 dl [hd UbR &t aAfifebar gidi 82
X 1. T iR

v 2 TgIe SHfHfchar

X 5 FafereroeT aififpar

X4 3oyeH SffHimAT

Q.30

Ans

AT T B & 9a U 20% HH g1 B BT I A & dad I fba- ufa=id 21fds g2

X 1.15%
v 2. 25%
X3 20%
X4 17%

Q.31

Ans

fodt faegd YRIaTES] el GRI 34 9eb Y &= a3t &1 Yo
X 1. g I gy fobdt Hf Auds W AR T8l Hrar g

X 2. g[dAdh Pl Galg IR HH Bl @

X 3. AT Bt Alelg W R Sar g

v 4 A BI Hpld W R AT S

Q.32

Ans

ST GUIATRT oo H o SfIYR WR &1 T 4% H Uy K07 (7) & ®IF R MAiiRad # O SH-91 [deed o =ifge?

TVX, SUW, RTV, Q5SU, ?
X 1. PTR
¥ 2 PRT
X 3 RPT
X 4. RTP

Q.33

Ans

T 2024 ® frufafaa 9 & f$a g wd ufar s 5= e fear mare
X 1. gaiHe QaEra

o 2. ST BT AT

X 3. R g dg

X 4. FARR A1
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Q.34

S g YT H U fOF (7) & M R FEiRad 9 9 SH-91 fabed 1 9rigu?

14151823307

Ans X 1. AD
¥ 2 39
X3 37
x4 41
Q.35

Ans

U Afad I AR 3T 213,500 B, 3R IS A1 44 29,000 Bl 8 AU AR 39 &7 @ THT foeamn
ufawrd A1fie sad Sdr 82

<1 25%
<2 21%
X 3. 28.57%
¥4 33.33%

Q.36

Ans

FafaRed & 9 SH-91 TIRE & &9 S i oar g2
X 1. dddhy

2. QT oA

X3 gayd

X 4. TaqdM

Q.37

Ans

fafefad # 9 SI9-41 @Ru 31 5815 82

X1 ms?
X2 ms
X 3. m/s

& 4 mys?

Q.38

Ans

3meiRr24 fera war ueRiHt 3R ufediRaT (Artara’24 Fine Arts Exhibition and Competition) T UTUfich SEX9 FT 82
X 1. Hapadr ST
X 2. % gded &I ggrar ol
o 3. SHRC HATHD UFAHTSM BT ol aUT ID! UiedTied BT
X 4. A RIS BT HaTe BT

Q.39

Ans

5118 Fofofad 7 9 fad favwrsa &2
216
X2 5
X3 8
X4 7
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Q.40

Ans

ffafaa Sen-gml 8, uged! Tel R $8 R Wihan e gus We urd & 9idl 81 X 3R Y & »IF
R PIH-H GBAT S TR TS = & aT5 1R &l Tearefl gRI o Ue &1 SRl S 8, 34t Ued &1
SFIERUI = & Gl AR g1 Sra 81?7

(A & GHATHT &1 Ih 9 3l T SHTHT-fa faY fa1, gul Femmefl iR Sferant &1 ol =@nfgu) 3al. 13 -
T 13 R HIHUIU SR 13 Bl SIS AT/GCHI/AUN BT H1MG (a1 O Febdl 8113 Bl 1 AR 3 H S{eRT-3eR] B
BI AR T 1 2R 3 W O WiHAT H B SFHd ol 5 )

X:7/11:2146:Y

X1 X=237,Y =418
2. X=252,Y=2393
X3 X=218Y =456
X4 X=269Y =379

Q.41

Ans

fam w=ht g1 anffe fawfta faaRor 2024-25 ® 1 778 Tyon & SFER, HRA A 3iafiver srdfarawyr & fore foraar Iv goh Hiw
R far s

X 1.%700 TRIS
X 2.%1,500 TS
X 3.3500 IRVS
o 4.%1,000 RIS

Q.42

Ans

T (fEd pe umr

A+B @A BHIATE,
'A—B' &1 'A, BHIHIR ©,
Ax B @13l 'A B HI U@l g 3R
A+ B &34 'A BH AT |

E'M-N+P+SxT 8 AMBI T H Hde g2
X1 T & fUdr & uis

v 2 Ud S A & O & urs

X3 et o far & faar & wig

X4 gel ol 1 bl A/ & Ul

Q.43

Ans

afE 6 M 3R 8 TS el B BT 10 737 B uf X Tavdl € Wah 26 ATEHT 3R 48 TS I S &1 2 &
o qul R Gl o, Al 3 1 B B H 20 1G] Bl a1 5 T

X2 e
X2 4 fe
v sfed
x4 3feq
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Q.44

Ans

GHHM m &1 U (U8 oflH d $Hdlg h R o ST offd] 8, fUs &t ety RRufcet Sl &1 gl
XY @R g B
X1.mxg

« 2. mgh
X3amx h

X 4. mg/h

Q.45

Ans

ST UIATE oA & YR TR, FHAfeiad IR &R -THg g ! § 9 dH U S JoR I 9HH § 3R 39 U6R
U g &I ¢ | -9 g 39 Wg 4 F&{9d e 67

(T &: SR SAER-THg, I H&R-THg H SoHI/RT BI -1 A1 I ®IF W AR Tl g )

X1 LN-QS

X2 TV -YA

+ 3 YD -WD

X 4 RT - WY

Q.46

Ans

i 3o ST 3e9a9 PIVE 3R T T8 U8 BT 3T aiiog|
fgifdd $8 3Med 2015 U 2019 P AT & SR TP HUAT &

gt Fafd @3s ™) & <idr el
55
LTI
45 40
(‘EF 40 35 35
35
E 30 25
25 0
20
10
1
(1]
2015 2016 2017 2018 2019
LY
ay 2016 3iR 2018 &I 3{9d HAd (@IS H) fharg?
X 1.70
X 2. 60
X3 90

4 30
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Q.47

Ans

afg A P13 =, B BT 3 ', ¢ B 3Rl '+, SR D T o - B, T iy wfreRu 3 vy fog v & e
R 7 AT

5C7D54A9B8="7

X 1. 41

V2 14

X3 34

X4 24

Q.48

Ans

IS sec 44 = cosec (34- 507 %, AR 44 2R 34 aﬁaﬁm%ﬁﬁcasec (A + 25°) fﬁfﬂﬁﬁﬁml
X 11

X2 0

732

x4 2
2

Q.49

Ans

3ol GUIATAT H & 3TYR T CKQR, FITP ¥ T8 FIEd UHR ¥ 9afdd g1 391 UHR, WERN, ZCUL 9§ Tafed 8|
A T @ ST &3 g, BOL) Fafafed # ¥ 5y eer ¥ e g2

A 1. FNNH
X 2. DMNJ
A 3. DNOK
v 4 EMOH

Q.50

Ans

Ush a3 DI 3ffdrd Hed 39d ARTd Hed H 50% 319 g1 37 g% o1 2ifdhd Hed 71,500 8, 1 9% B AN Hed
e g

X 1. 31,200
X2 3750
< 33800
v 4 31,000

Q.51

Ans

319 el & doEF ¥ gfg H3 W 1 e

v 1. P P AT Hoif 9 o

X 2. 319 uerd T TR 9 8|

X 3. 31 Ul TR A9 & $Ig UG Tef gedl|
X 4. U P AT Bl HH gl SMeH |
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Q.52

Ans

10 U&{UT T 2 46 B 916 H 98 F1d 81aT & [ U U&UT T 142 & T W 42 UG o 7am o1 | Tgt 9d 91
EAIEIY

« 1. 56

X 2. 65

X 3. 54

X 4. 45

Q.53

Ans

A 3-digit number is such that the units” digit, the tens’ digit and the hundreds’ digit are in the ratio 1 : 2 : 3. The sum of

this number and the number obtained by writing its digits in reverse order is 1332. Find the number.

<1 963
X 2. 246
X3 123
X4 414

Q.54

Ans

In a row of people, all facing north, Bunty is 8™ from the left end. Sneha is 15 from the left end. Sneha is exactly
between Bunty and Nupur. If Nupur is 7% from the right end of the line, how many people are there in the row?
1. 28

X 2. 26

X 3. 20

X4 22

Q.55

Ans

Frafiiaa Seamsft SR Udich] &1 43ae Hf SRIT 3R 7iid 3T T8 Uy &1 IR Siford | Sesft 3R Welid! &1 [
Had €1¢ 4 gl 8l & S 91ieu|

@H309#1 46 @8% 2 & % 7&* £5 @N

TRIad g@en # Tl fbeit S €, 5 9 Uds & 31 Ul U U1 § 3R 31s 815 U Wl 87
X1 g

X2.EFI{

3 Ud

X o 2 e

Q.56

Ans

(256)°16 x (256)%%° &I HIH 34T g2
X 1. 256

V2 4

X 3. 64

X4 16

Q.57 fAgfafad & @ $19-W0 a9, W ) R (Pro Kabaddi League) & 103 T &t faiar ft2

Ans

% 1. fie Tt
X 2. el Uy
o 3. TR Uee
X 4. sfeamn wed



https://t.me/mathsbygaganpratap

Q.58

Ans

Anita starts from her house at Point A and walks 5 m towards South. She takes a right turn, walks 7 m, takes another
right and walks 12 m and stops at point P. If a pole is placed 7 m towards East from where she stopped (Point P), how
far (shortest distance) and in which direction will her house be from the pole? (All turns are 90 degrees turns only
unless specified.)

X 1. 5 m towards the North
A 2. 12 m towards the South
+ 3. 7 m towards the South
X 47 m towards the East

Q.59

Ans

SRIST GUHTAT H & 3MTYR TR IMOL, PTVS T Tdh MiEd SR 1 T6fid g1 I UHR FL, MQsP T Tafid g1
A deb BT TR0 B gL, KoQN FEfifad & 9 feu e 3 wafia 22

X1 QUWX
<2 QUWT
X 3. RUVX
4 RVXU

Q.60

Ans

URATY] 3 Wae H FAfARad Syl § 3 SH-91 HU el 62
v ' UTAIY, o Hell 3, fdggd IS gid g

X 2. TR 3 FU W faggd IaH e g

X 5. TRATI] H SIS 4HIHD 13 el 8idl o

X 4. TR f9egd Ia™H T8l 8id g |

Q.61

Ans

SAUHH U HYF & 91E | 3R || HHidd & PRAGT &l Ts g | D! HU H ] T3 G STHSIRAl &1 T
HFAT BRT, 3R Sy H &1 15 OFBRI & YR TR [0 31 g & difbe ©u O fhu/fea srRan/erarsd
I S TE0 fehaT o =1fgu|

B

e &1 2! Iarai-al & aaela U el gRiam # T Hd T Uhs! 7|
PRATE:

. Tl o1 adia § FrshIida & fagn o =fey, SiR IueT UWR TE & (641 ST 91igu |
1. g &1 femdf &1 U@ iR Jarent ¢ax 8is &1 afey

X 1. Had | TR HT 2|

v 2 Had | TR &l ¢
X3 A SR TGN STHR0 HRAT 6
X 41 3R 11 G S{TERUT 6 B
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Q.62

Ans

2024 ®, I1qq TR AT TR B (Royal Australian Air Force) WRd W 3[%ITH ¥ Xfa (Tarang Shakti) & GRH {6 ™M R
3 TSI AT BT eri= Huit?

X 1. 91 Y1 W€, gOl

7< 2. I1g U1 WCRH, TTRR
& 3. TG I WM, YR
X 4. I U1 XM, 3R

Q.63

Ans

TANCY aTeqed TISHT (NPS Vatsalya scheme) & 3iaiia ufaad =gaaw fa-it «==1fR1 &7 S=1eM fbar o qaar €, aut siftrean
RGPS W1 181 872
% 1.32,500

X 2.3500
& 3.31,000
7 4.%5,000

Q.64

Ans

DI H Fgfiad 2ftifbar ol gidl §: S8 Be alel 3] GhIw Bl i+ Bla- ard (U H fags|
X1 g H

X 2 Orgcipi-aar #

X3 Tefie o

v 4 IR A |

Q.65

Ans

B eTH BIEHC R STd FH o o7 HeRaH gr3giaEs & Al U SH-l 719 Ualfed &l Sl 82
X 1. giferH 19

X 2 ffaie g

X 3. gIgSIoM 14

v 4 BIE-SIGAHIRGS 19

Q.66

Ans

Which gland secretes Adrenaline?
X 1. Pineal gland

X 2. Pituitary gland

« 3. Adrenal gland

X 4. Thyroid gland

Q.67

Ans

16% TN D ST B! e WX, 3 I8 H oy 4=RIMAI U 7480 BT TRUT TS YT gHTI?
X 1. 31,200

X 2. 3800
v 2 31,000

< 4 3600
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Q.68

Ans

45 km/h &1 910 U 90 381 UH SaiTel U TY Bf 24 sec H IR B0l ¢ | IRTS! &1 AdTg [ba-! 87
X1 15m
X2 30m
« 3 300m
X4 125m

Q.69

Ans

1C 39 ¥ fHd- e 8id 87
X 1. 6X 107 geigeH

x 2. 6 X 102 golae

v 610 golaeH
X 46X 10 gelqeH

Q.70

Ans

e 3l FHIR @Y B! fode @el 3@1 gRI SIE1 Sl 8, dl Fafkikad H 9 &F-91 9d 82
a) T 10T SRR Bid g

b) TR 2Id: IV YRS g ¢

o) [l &< a1 & U &1 TR% @l §4 BRI DIV SRR Bid ¢ |

d) THICR 3AcT: P10 &R el &

X1 Had a

X 2 Wb

X3 p3Rc

V4 33Rd

Q.71

Ans

X gwTiaa far mam

P 2023-24 & T SFEUTS BRETE WS IRATA 1S (India’s Fastest Growing Sustainable Brand) ¥ f&ara

X 1. gorar gl

X 2. e i TSl
X 3. erer Rgued TSt
4. TR Rqead et

Q.72

Ans

TS 39 ¢ WleH - THE! fohdbe W (1 Have the Streets - A Kutty Cricket Story)' J&I® & d@® fAafefad & § #1982

X 1. padlu argd
X 2. gfeF dgaax
o 3. deis sy
X 4. TR Tt



https://t.me/mathsbygaganpratap

Q.73

Ans

ffafaa Sen-gml 8, uged! Tel R $8 R Wihan e gus We urd & 9idl 81 X 3R Y & »IF
R PIH-H GBAT S TR TS = & aT5 1R &l Tearefl gRI o Ue &1 SRl S 8, 34t Ued &1
SFIERUI = & Gl AR g1 Sra 81?7

(B & SBATHI &I Ik gcab Sihl T SATRT-HTRT (b &1, Yol Heeredl ur Hichard &1 o a1fet| 3al. 13 -
T 13 R HIHUIU SR 13 Bl SIS AT/GCHI/AUN BT H1MG (a1 O Febdl 8113 Bl 1 AR 3 H S{eRT-3eR] B
BI AR T 1 2R 3 W O WiHAT H B SFHd ol 5 )

XK:523:9:Y

X1 X=9Y =294
2. X=11,Y =225
X3 X=15Y =286
X4 X=13,¥Y =250

Q.74

Ans
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